
 

Question: 1 
   
What is the easiest way to enable SD-Access for all your remote sites after you have your campus SD-
Access fabric up and running? 
 
A. Use a separate fabric domain for each site and use the traditional physical network as the underlay. 
B. Threat all the sites as one fabric domain and use the traditional physical network as the underlay. 
C. Threat all the sites as one fabric domain and use SD-WAN as the underlay. 
D. Use a separate fabric domain for each site and use SD-WAN a s the underlay. 
 

Answer: C     
 

Question: 2 
   
Which node enables Cisco ISE to share contextual information on a device with Cisco Stealth watch? 
 
A. Inline Posture Node 
B. pXGrid Controller 
C. Monitoring and Troubleshooting Node 
D. Policy Administration Node 
 

Answer: B     
 

Question: 3 
   
Which two activities should occur during an SE’s demo process? (Choose two.) 
 
A. identifying which capabilities require demonstration 
B. highlighting opportunities that although not currently within scope would result in lower operational 
costs and complexity 
C. asking the customer to provide network drawings or white board the environment for you 
D. determining whether the customer would like to dive deeper during a follow -up 
E. leveraging a company such as Complete Communications to build a financial case 
 

Answer: B,D     
 

Question: 4 
   
Which are the three focus areas for reinventing the WAN? (Choose three.) 



 
A. Secure Elastic Connectivity 
B. Centralized device authentication 
C. Application Quality of Experience 
D. Operations 
E. Cloud First 
F. Execution 
 

Answer: A,C,E     
 

Question: 5 
   
Which option will help build your customers platform during the discovery phase? 
 
A. POV report 
B. detailed design 
C. high-level design 
D. PO 
E. business case 
 

Answer: E     
 
  
 


